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BifE B - 550064058248 BiETIL AR
IEfL K % |OUT| IN| GR |HDCP| NET -5 Em 6 K %  |OUT| IN | GR |HDCP| NET S Em
61 HIE 1EBA 43 |39 (82 |8.4 |73.6 1500P o1 |FEFx ®x 42 |46 |88 |13.2 |74.8 1500P
62 |z FE— 37 |51 |88 |14.4 |73.6 1500P 92 ;kH AR 42 |46 |88 [13.2 |74.8 1500P
63 | AE 1ET 44 |44 |88 |14.4 |73.6 1500P 93 |FRE HBE |43 |45 88 |13.2 |74.8 1500P
64 1EH & 51 |43 |94 |20.4 |73.6 1500P 94 WK BHE 44 |44 |88 |13.2 |74.8 1500P
65 | EXkim A 63 |43 [106 [32.4 |73.6 5% it 95 | =& FH 47 |47 |94 |19.2 |74.8 e
66 Err HE 41 |40 (81 |7.2 |73.8 1500P 96 E£E #UE 51 |43 (94 [19.2 |74.8 1500P
67 RIE FIE 44 |43 |87 [13.2 |73.8 1500P 97 BB B 51 (43 |94 [19.2 |74.8 1500P
68 |—8 ME 56 |49 |105 |31.2 |73.8 1500P 98 |8t EF 43 |44 |87 |12.0 |75.0 1500P
69 E& I’ 40 |40 |80 |6.0 |74.0 1500P 99 \ERE 1{&3X |45 |42 |87 [12.0 |75.0 1500P
70 | LK ER—ER |42 |44 |86 [12.0 [74.0 5000P-E 100 B8 % 40 |40 (80 |4.8 |75.2 E—I
1 Iss  Fi 45 |47 92 [18.0 |74.0 4000P-E 101 /NE EE 40 139 (79 |3.6 |75.4 |[ZF7E°VTH 2000P
12 |88 RBE 46 |46 192 |18.0 |[74.0 3000P-E 102|WE EA 42 |43 |85 |9.6 |75.4 1500P
73 | FHFE ¥— |47 |51 (98 |24.0 |74.0 1500P 103|iI8& F3 45 |46 |91 |15.6 |75.4 1500P
74 ALl [E8h 48 |50 |98 |24.0 |74.0 1500P 104 i 48 [43 |91 |15.6 |75.4 1500P
75 BEKRK #BF 44 |41 |85 |10.8 |74.2 1R 105 B2 ®HH 51 |46 |97 |21.6 |75.4 Pe:Tin ]
76 FHiE ¥ 52 |51 |103 |28.8 |74.2 1500P 106 AR BHiA 51 |46 (97 |21.6 |75.4 1500P
17 Bf F— 45 45 |90 [15.6 |74.4 1500P 107 [— 44 (39 |83 (7.2 |75.8 1500P
18 AKX 45 |45 190 |15.6 |74.4 1500P 108 | EEH {&— 45 |44 |89 (13.2 |75.8 1500P
19 Mf F-— 46 |44 |90 |15.6 |74.4 1500P 109 A ¥ELE 46 |49 (95 |19.2 |75.8 1500P
80 |#A4T EREE 46 |44 |90 |15.6 |74.4 E—IL 110 )11 FFHF 50 [45 |95 |[19.2 |75.8 E—JL
81 @I E&F 48 |42 90 |15.6 |74.4 |ZFE"U1TH 2000P 111 5i# %% 51 |44 (95 |[19.2 |75.8 1500P
82 Rk HE 49 |41 190 |15.6 |74.4 1500P n2\5i & 48 (53 |101 |25.2 |75.8 |=F7E"V17H 2000P
83 ' EN =g 45 |51 |96 [21.6 |74.4 1500P 113 |#E fE=BF |53 |48 |101 [25.2 |75.8 1500P
84 HIE E 56 |46 [102 [27.6 |74.4 1500P 114 2B g 57 |44 |101 |25.2 |75.8 1500P
85 EEF X 44 |45 |89 |14.4 |74.6 15 Bt 115 |h#t EF 53 |54 [107 [31.2 |75.8 e,
86 Wl =& 48 |41 |89 |14.4 |74.6 1500P 116 188 == 43 |45 |88 |12.0 |76.0 1500P
87 BT ChE 46 |49 |95 |20.4 |74.6 1500P n7AH# = 42 52 |94 |18.0 |76.0 1500P
88 =Bk =M 49 |46 |95 |20.4 |74.6 1500P 18 |BxE A 48 |46 |94 [18.0 |76.0 1500P
89 |t S8 53 |48 |101 [26.4 |74.6 1500P 119|758 # 49 |51 [100 |24.0 |76.0 1500P
90 |#&H BT 41 |47 |88 |13.2 |74.8 E—IL 120 | #tE =& 49 |51 |100 |24.0 |76.0 E—JL
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